
A Physician orders Amoxicillin 500mg by mouth every 8 hours for a
patient to treat Bronchitis. The pharmacy has available 250 mg tablets.
How many tablets will you dispense for a 10-day supply?
Answer:

60

Step-by-step explanation:

2of the 250mg pills 3times a day=6 pills a day for 10 days = 60 pills

"The robbers together with his gang, were captured." find the error and rewrite.
Why did Korea develop in isolation from neighboring countries?
Colonel Joshua Chamberlain led a successful defense against the South at Little Top.
Help What is the solution to the equation?

5(8 + 7) = 5 • x + 5 • 7

A.
x = 1

B.
x = 5

C.
x = 7

D.
x = 8
Two resistors, with resistances R1 and R2, are connected in series. R1 is normally distributed with mean 100? and standard deviation 6?, and R2 is normally
distributed with mean 120? and standard deviation 10?. What is the probability that R2 > R1?



How to write 1 000 001 in words
Let’s say you’re creating a search stream in your Hootsuite dashboard, to find mentions of the phrase vacation holiday getaway. How do you ensure that the
exact phrase gets searched for, rather than the individual words in the phrase?A. Boolean operators after the phrase B. asterisks around the phrase
C. @symbol after the phrase
D. ampersands before the phrase
E. quotation marks around the phrase
the Honda Civic would cost $15 plus $0.50 per mile driven. the Ford Focus would cost $25 plus $0.25 per mile driven. create an inequality to represent any
number of miles for which the Honda Civic would be the better renting option. PLEASE EXPLAIN what you're in equality means
a ball is thrown at a height of 240m for every bounce the height decreases by 60%.What was the height of the second bounce?
If a sealed syringe is heated, in which direction will the syringe plunger move? a. out
b. in
c. The plunger will not move.
d. The direction cannot be predicted.
Beverly, the manager of a branch location of a large law firm, treated company resources as if they were her own and encouraged continued development and
training of her employees. She cared about the staff deeply and even organized international volunteering activities to promote their growth. Beverly could best
be described as which type of leader? A. transactional
B. situational
C. shared
D. laissez-faire
E. servant
How do heroes resolve conflicts in Beowulf? Question 15 options:

They sue each other in court

They get a mediator

The seek counseling

They get even or take revenge
Mitochondrial presequences are ____ charged amphipathic sequences retained in the ____ stage through association with ____ molecular chaperones. A.
negatively; folded; Hsp70
B. positively; unfolded; Hsp70
C. neutral; unfolded; Hsp40



D. negatively; prefolded; Hsp90
E. positively; folded; Hsp40
Why do you think most of the slaves sold to slaveholders in Texas arrived by sea?
Which set of numbers can be represented the side lengths, in centimeters, of a right triangle ?
At which battle did the Americans and French surround the British forcing them to surrender? Trenton Saratoga Yorktown Brandywine
What jobs can you get with a degree in International relations?
Explain why sports men use shoes with spikes ???
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